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Find a positive and a negative coterminal angle for each given angle.
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onvert each degree . "
Stt€ measure into radians and each radian measure into degrees.
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Find the length of each arc. Round your answers to the nearest tenth.
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e missing sides using special right triangle rules (30° — 60° — 90° or 45° — 45° — 90°). Leave answerin simplest

Fal form
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Draw a reference triangle for the given angle. Decide which type of special triangle it is and use the rules to find the
missing sides. Give the exact value of each trig function without using a calculator.
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I acute angles, 8, that satisfy the gi ;
fy the given equation by drawing the triangles. Give 6 in both degrees and radians.

hould do these pr i
/ 2 problems without a calculator.

“' ’
oot (S L 10 of
7. sinf =— {4 C’P‘ 3 P ~ 4
2 hjf ?C. 38. cosB:—-‘g—iov'\;\“o A 39. tan9=‘.é-”-a&%

C

YA ¥ o
\ 1% 534575
- oI
\

3
-3
32,
T L«Oo ' 1 \/50' V
i & ~el . '
l_—) \10 (I - X ’(?500
%0 =
& 330

0-1385 225" 9=150, 330

6= (00" 120
and

and

e zﬂ'/ s s LT
Find the exact values 0
terminal side contains the given pein

fsin @, cos @, tan 8, csc g, sec, and cot @ where 8 isan angle in standard position whose

t. Write answers in simplest form.

40. (-2,-9)

ks @y =x 2 ot

A
\ y +8l = Ki &
o) 85 = 2B e A B
R
dl 435 tan 6 iﬁ - iz— 0 ?21
.9 ang= cotO=
hS\o v —{—,ﬂ.r\ C:’?—_ = 77 S ’ g = 7 2':50

Scanned with CamScanner



w0 triangles f‘" the trig functions and find the coordinates that go with it. There will be 2 answers. Leave
e@'n simplest radical form. (Remember All Students Take Calculus). Then find the angles from [0, 360°) in

d position (round to the nearest tenth of a degree). 2
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